SC968 PANEL DATA METHODS FOR SOCIOLOGISTS 
COURSE ASSESSMENT PAPER 2009-10
This assessment counts as 50% of the final mark for SC968, unless the student’s exam mark is higher, in which case the course is assessed on the exam mark alone.

Please answer both questions. For this exercise, use the data set stored in the SC968 area as teaching.dta Please type your answers into this assignment sheet; you may also copy and paste output from STATA.

The deadline for this assessment is Friday 30th April 2010. Note that several of the models in the assessment take some time to run; please allow sufficient time to complete it!
1 A COMPARISON OF FIXED EFFECTS, RANDOM EFFECTS AND RANDOM COEFFICIENTS MODELS FOR BINARY VARIABLES 
Use the variable hlstat in the data to generate a dichotomous variable indicating whether an individual is in good or poor health. 
Estimate fixed and random effects logit regressions using this dichotomous indicator of self-rated health as dependent variable, and the following as explanatory variables:

· sex

· age and age squared

· educational status

· whether the individual has a partner

· the number of children in the household

· whether the individual is in work or not
You will need to recode highest educational qualifications into a 6 category educational status variable roughly equivalent to NVQ0 to NVQ5+. See

http://www.direct.gov.uk/en/EducationAndLearning/QualificationsExplained
Paste or type in the results from the two models.  Write a commentary on the findings from the two models, highlighting the differences and similarities between them.

Create interaction terms between age and all the other variables listed. Estimate separate models which include these interaction terms, and then a final model with the interaction terms which you feel contribute to the analysis. Type or paste your results below, and comment on your results. 
Carry out some exploratory random coefficients models using one explanatory variable at a time to investigate if the effects of the explanatory variables on health status are the same for all individuals or not. It may be necessary for you to make some simplifying assumptions about one or two of the variables. Paste in the results of your models below and say how you would reconcile the findings from the fixed effects, random effects and random coefficients models.
2 
A RANDOM COEFFICIENTS REGRESSION ANALYSIS FOR CONTINUOUS DATA
You are asked to carry out an analysis of sources of inequality in women’s pay.
Select a sample of working aged women who are in employment to run some models investigating this issue.
Estimate a random coefficients linear regression model using logged monthly labour income as dependent variable, and the following as explanatory variables:

· Educational status

· Socio-economic class
· Ethnic group

Show how you have recoded the explanatory variables and give your reasons where appropriate. You will find useful information on the NS-SEC at 

http://www.ons.gov.uk/about-statistics/classifications/current/ns-sec
You may also include in your analysis any confounding variables that you think are appropriate and any plausible interaction effects.

Comment on the findings in each step of your analysis and the decisions you made when proceeding to the next step. Include output from any post estimation commands that you run to aid interpretation.
When you have completed your analysis write a conference abstract (maximum 500 words) summarising your work.

As a final step in the assignment, comment on the limitations of your analysis.

Be aware that there is no one “correct answer” to this question. 

